

9. Let $u = 3x - 2$. Then $du = 3 dx$ and $dx = \frac{1}{3} du$, so $\int (3x - 2)^{20} dx = \int u^{20} \left(\frac{1}{3} du\right) = \frac{1}{3} \cdot \frac{1}{21} u^{21} + C = \frac{1}{63} (3x - 2)^{21} + C$.

13. Let $u = 5 - 3x$. Then $du = -3 dx$ and $dx = -\frac{1}{3} du$, so

$$\int \frac{dx}{5 - 3x} = \int \frac{1}{u} \left(-\frac{1}{3} du\right) = -\frac{1}{3} \ln |u| + C = -\frac{1}{3} \ln |5 - 3x| + C.$$

17. Let $u = \pi t$. Then $du = \pi dt$ and $dt = \frac{1}{\pi} du$, so $\int \sin \pi t dt = \int \sin u \left(\frac{1}{\pi} du\right) = \frac{1}{\pi} (-\cos u) + C = -\frac{1}{\pi} \cos \pi t + C$.

39. Let $u = x - 1$, so $du = dx$. When $x = 0$, $u = -1$; when $x = 2$, $u = 1$. Thus, $\int_0^2 (x - 1)^{25} dx = \int_{-1}^1 u^{25} du = 0$ by Theorem 6(b), since $f(u) = u^{25}$ is an odd function.

41. Let $u = 1 + 2x^3$, so $du = 6x^2 dx$. When $x = 0$, $u = 1$; when $x = 1$, $u = 3$. Thus,

$$\int_0^1 x^2 (1 + 2x^3)^5 dx = \int_1^3 u^5 \left(\frac{1}{6} du\right) = \frac{1}{6} \left[\frac{1}{6} u^6\right]_1^3 = \frac{1}{36} (3^6 - 1^6) = \frac{1}{36} (729 - 1) = \frac{728}{36} = \frac{182}{9}$$

47. Let $u = x - 1$, so $u + 1 = x$ and $du = dx$. When $x = 1$, $u = 0$; when $x = 2$, $u = 1$. Thus,

$$\int_1^2 x \sqrt{x - 1} dx = \int_0^1 (u + 1) \sqrt{u} du = \int_0^1 (u^{3/2} + u^{1/2}) du = \left[\frac{2}{5} u^{5/2} + \frac{2}{3} u^{3/2}\right]_0^1 = \frac{2}{5} + \frac{2}{3} = \frac{16}{15}.$$